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1. (a) Form a partial differential equation by

(b)

eliminating the function ¢/’ from

f(x+y+z,x2+y2—z?‘)=0. 6

f(x+y+z,x2+y2—zz)=0 qd Fd
7 R qW R ARE Tawe THIE
CEIE
Solve : 6
(z—-y)p+(x—z)q=_y-—x
'dd ﬁﬁmﬁ :
(z-=y)p+(x—-z)g=y-x

Find the complete integral of
(p2 +q2)x = pz using Charpit's method.

6
=iffe fafy =1 3w s @
(p2+q2)x=pz H1 qUI HHGA T
HIfST |
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(b) Find the complete integral of
P1X; + paxy :p32 by using Jacobi's
method. 6
Satet fafs w1 smEmm w
HifsT |
Section II
Qug 11
3. (a) Solve the equation : 6
(2D? - 5DD’ +2D2) = 55in (2x + )
prricTy | ST
(2D? - 5DD" +2D2) = 55in(2x + )
(b) Solve : 6
g
r+(a+b)s+abt=xy
el ﬁﬁ?‘l’q s
r+(a+b)s+abt = xy
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Solve : 6

(D*-D2+D+3D'-2)z =" - 2%y

g il
) ) ")
(D"—D'"+D+3D'—-2)z=¢?J Y — Py

Solve : 6
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Section III
wug III

Reduce the following equation 10

canonical form and hence solve it :

Zey = Zyyr 6
frefafaa e i fafed §9 A g
hiToq 3R a7d: 3@ Tl SieT

Zxx - z}g’
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equation

(b) Classify and reduce the
%z 4 0% " |
32 x _a;i' =0, xz0 to canonical

ox* dy
ffepa ity ofn fafea w1 H wAERA
iy |
6. (a) Solve
-~
r+5s+6t=0
T SHiWC
r+5s+6t=0
(b) Solve :

4 25+(rt—32)=1
Td &ifeg

25+(rt—32)=1
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@)

(b)

AsinTxsin 2my .

Section TV
wusg v

Define characteristic €quation and find
the characteristic of -

6
2 2 2
2 0°u Fu 9%
X —=4+2x + —=(
ax2 yaxay d ay2

aﬂt@ﬁ@fwwﬁm%ﬁﬁm:

2 2 2
2 0“u Fu  ,3%,
Yoty 20

Solve one dimensional heat equation by
the method of Separation of variable, ¢

Wqﬂmfﬁﬁ:m@mﬁm
W?mfmwaﬁﬁrrqn
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u(x, y,1) ¥ R, o gRfE o Nl
IR yRRrw fyey Asinmxsin2my & |

Compulsory Question
Aty

9. (a) Find the partial differential equation of
X planes having equal x and y intercepts.
E x 3Ry E0vE 9 g9dae @

RTH  3fehe] THIBRT Fd T |

(b) Find £, so that given system is

compatible :
E?iz7x+18y—1,£=910c+11y—2
ox dy
k T ifse, @ife < T yonett 9ma
%=7x+18y—1,—a£=9kx+11y—2
ox dy
(c) Solve :

(Dz—DD'-.zD)z:o
(Ll Gﬂﬁm :
(DZ—DD’-—2D)z=O
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(d) Classify the differential equation :

9%z 0%z 0%z
—+6 +9—=0
2 oxdy oy’

(e) Write one dimensional wave and diffusion

equation.

& AT T SR FER wHe fafed |
() Solve :

22

3 = cos(2x+2y)

by direct integration.
fre & W TURReA g ®W WifST
9°z

33 = cos(2x+2y)
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